Periodicity Optional Credit
(~Assigned) Friday, Nov 10, Due By Tuesday, Nov 21
Purpose: To observe the periodic trends of Electronegativity & Ionic Size.
Part A:  Electronegativity

Procedure:

1.  You will make a three dimensional model of the electronegativity of selected elements.  You will use straws to represent the value of electronegativity and glue the straws to a piece of cardboard that represents the periodic table. Begin by drawing a 7x6 grid on a piece of cardboard. The cardboard doesn’t need to be large, a shoebox lid will probably be a fine size. Then, draw the elemental symbols in each corresponding grid as shown below. This is representative of the periodic table with-out d-block.
2.  The value of electronegativity will be represented in cm of straw length.  Example: fluorine has an electronegativity of 4.0, so it would be 4 cm long.  Using this method, make representations of each element on the following table: [image: image1.png]6.3 Periodic Trends > (InterpretData )

This table lists electronegativity values for

representative elements in Groups 1A through 7A.

Electronegativity Values for Selected Elements .
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Li Be B [od N o F
1.0 1.5 2.0 25 3.0 3.5 4.0
Na Mg Al Si P S Cl
0.9 1.2 1.5 1.8 2.1 2.5 3.0
K Ca Ga Ge As Se Br
0.8 1.0 1.6 1.8 2.0 2.4 2.8
Rb Sr In Sn Sb Te |

0.8 1.0 1.7 1.8 1.9 2.1 2.5
Cs Ba Tl Pb Bi

0.7 0.9 1.8 1.9 1.9

The data
in this
table is
expressed
in Pauling
units.




3.  After cutting the straw to the correct length, glue it in the row and column to match its location in the periodic table.
4.  Label the groups & periods on your periodic table.
Analysis:

1. Which element represented in your model is the most electronegative?

2. Based on your model, what is the general trend in electronegativity from left to right across a period?

3. What is the general trend in electronegativity within a group?  Are there any notable exceptions?

4. Why do you think that the electronegativity value for hydrogen is so high given its location in the table?

